B.E. /B. Tech. Degree Examination, April May 2010 B.E. /B. Tech. Degree Examination, April /may 2010. B.E. CCUMD - MARRA - Numerical Methods. B.E. CCUMD - MARRA - Numerical Methods. D. Sufficient condition for convergence of an idea metho for f(m) = 0; written as x = g(x) is |g'(x)| < 1. a. Let A be given matrix . Choose the eigen Vector $X_0 = \begin{bmatrix} x_1 \\ y_2 \\ z_3 \end{bmatrix}$ Then fid $Ax_0 = display test eigen value <math>[x X_1]$ i. $A = \frac{1}{3}$ J. Divided difference Table $x = y = Ay = A^2y = A^2y$ $A = \frac{1}{3}$ $A = \frac{1}{$ Sufficient condition for convergence of an idealive $f(n) = \frac{1}{6h} \left[(n_i - n)^2 M_{i-1} + (n - n_{i-1})^2 M_i \right] + \frac{1}{n} \left[n_i - n \right] \frac{1}{6} M_{i-1} + \frac{1}{n} \left[n - n_{i-1} \right] \left[\frac{1}{9} - \frac{1}{6} m_i \right].$

6. Liven
$$f(x) = \frac{1}{1+x^2}$$

By Graussian two point quadrature formula
 $\int_{1}^{1} \frac{du}{1+x^2} = f(\frac{1}{(15}) + f(\frac{1}{(15}))$
 $= 0.8660.2s + 0.8660.2s$
 $= 1.-13.205$
7. Gricen $\frac{du}{dx} = x+y$, $y(x_0)=1.$ $f(x,y) = xy$
 $By Euler's method, $x_{1} = 0 \rightarrow y_{1}=0$
 $y_{n+1} = y_{n} + h f(x_{n}, y_{n}) \qquad x_{2} = 0 \rightarrow y_{1}=0$
 $y_{1} = y_{0} + h f(x_{0}, y_{0}) \qquad x_{2} = -h \rightarrow y_{2}=0$
 $y_{1} = y_{0} + h f(x_{0}, y_{0}) \qquad x_{2} = -h \rightarrow y_{2}=0$
 $y_{1} = y_{0} + h f(x_{0}, y_{0}) = 1.2$
 $y_{2} = y_{1} + h f(x_{0}, y_{0}) = 1.2$
 $y_{3} = y_{1} + h f(x_{0}, y_{0}) = 1.2$
 $y_{4} = y_{0} + h f(x_{0}, y_{0}) = 1.2$
 $y_{5} = y_{1} + x_{0} (-1) = 1.2$
 $y_{4} = y_{0} + h f(x_{0}, y_{0}) = 1.2 + 1.2 (-2 + 1.2)$
 $y_{4} = y_{0} + h f(x_{0}, y_{0}) = 1.2 + 1.2 (-2 + 1.2)$
 $y_{5} = y_{1} + \frac{1}{24} [55 y_{0}^{1} - 59y_{0}^{1} + 37y_{0}^{1} - 2 - 9y_{0}^{1} - 3]$
 $y_{4} = y_{0} + \frac{h}{24} [55 y_{0}^{1} - 59y_{0}^{1} + 37y_{0}^{1} - 2 - 9y_{0}^{1} - 3]$
 $y_{4} = y_{0} + \frac{h}{24} [9y_{0}^{1} + 19y_{0}h^{1} - 5y_{0}h_{0} + y_{0}^{1} - 3]$
9. Explicit formula to solve one dimensional wave equation
 $u_{1,j}(x) = u_{10,1,j} + u_{10,j} - u_{1,j}(-1)$.$

10. Standard five point formula:

$$U_{ij} = \frac{1}{4\pi} \left[U_{i+1,j} + U_{i-1,j} + U_{i-j+1} + U_{i-j-1} \right]$$

$$\frac{Part-R}{Ratt-R}$$
11. (a) (i) Solve for a positive root of the equation $\pi^{A} - \pi^{-10=0}$
Using Newbor - Rapheon method.
Solution:
Consider $\int (u) = \pi^{A} - \pi^{-10=0}$.
 $\int (0)^{2-10}$ Change of Ogn.
 $\int (s) = 4$ $\int \frac{1}{2} = 1.5$
New long Attentive formula:
 $\pi_{H^{+}} = \pi_{H} - \frac{1}{2} (\pi_{H}) = \pi_{H} - \frac{(\pi^{A} - \pi_{H} - b)}{4\pi^{A} - 1}$
 $= \frac{4\pi^{A} - \pi_{H} - \pi_{H} + \pi_{H} + 10}{4\pi^{A} - 1}$
 $\pi_{H} = \frac{3\pi^{A} + 10}{4\pi^{A} - 1}$
 $\chi_{I} = 2.015$
 $\chi_{A} = 1.8558$
 $\chi_{S} = 1.8558$
 $\chi_{S} = 1.8558$
 $\chi_{S} = 1.85558$
 $\chi_{S} = 1.85558$
 $\chi_{S} = 1.85558$
 $\chi_{S} = 1.85558$

```
111) Use Gauss-seidal iterative method to obtain the
                                                                  6
                                                                  solution of equations.
   9x - y + 2x = 9, x + 10y - 2x = 16, 2x - 2y - 13x = -17.
 Solution:
         x = + [9+y-2z]
          y = 10 [15-x+2x]
         \pi = \frac{1}{13} \left[ 17 + 2\pi - 2y \right]
    Let x=y=x=0.
                                               Z
 Iteration x
                                y
                                             1,24615
                               1,4
    1
                1
                                             1.18727
              0.87863 1.66187
     2
              0.92076 1.64538 1.19621
     3
             0.91700 1.64754 1.19530
     4
        0.91744 1.64732 1-19540.
     5
   The solution is x=0.011744, y=1.64739
        R=1-195 .
                       TORT
(b) () Find the inverse of the matrin by Gauss-Jordan
     method: \begin{bmatrix} 0 & 1 & 2\\ 1 & 2 & 3\\ 3 & 1 & 1 \end{bmatrix}.
   Solution:
Let A = \begin{bmatrix} 0 & 1 & 2 \\ 1 & 2 & 3 \\ 3 & 1 & 1 \end{bmatrix}
    Considu the augmented Matrix (A/2)
             = \begin{bmatrix} 0 & 2 & 3 & 1 & 0 & 0 \\ 0 & 7 & 2 & 0 & 1 & 0 \\ 3 & 1 & 1 & 0 & 0 & 1 \end{bmatrix}
```

$$\begin{split} & \approx \begin{bmatrix} 1 & 2 & 3 & 1 & 0 & 0 \\ 0 & 1 & 2 & 0 & 1 & 0 \\ 0 & -5 & -8 & -3 & 0 & 1 \end{bmatrix} \\ & \approx \begin{bmatrix} 1 & 0 & -1 & 1 & -2 & 0 \\ 0 & 1 & 2 & 0 & 1 & 0 \\ 0 & 0 & 2 & -3 & 5 & 1 \end{bmatrix} \\ & \approx \begin{bmatrix} 1 & 0 & -1 & 1 & -2 & 0 \\ 0 & 1 & 2 & 0 & 1 & -1 \\ 0 & 0 & 1 & -\frac{3}{2} & \frac{5}{2} & \frac{1}{2} \end{bmatrix} \\ & \approx \begin{bmatrix} 1 & 0 & 3 & -4 & -1 \\ 0 & 0 & 1 & -\frac{3}{2} & \frac{5}{2} & \frac{1}{2} \end{bmatrix} \\ & \therefore & \text{The inverse of the matrix } A is given by \\ & A^{T} = \begin{bmatrix} -\frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ -\frac{1}{2} & \frac{1}{2} & \frac{1}{2} \end{bmatrix} \\ & \text{With the converse of the matrix } A = \begin{bmatrix} 1 & 6 & 1 \\ 1 & 2 & 0 \\ 0 & 0 & 3 \end{bmatrix} \\ & \text{Solution:} \\ & \text{het } X_{1} = \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix} \\ & \text{het } X_{1} = \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix} \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix} = 1 \\ & X_{2} = \begin{bmatrix} 1 & \frac{1}{2} & 0 \\ 0 & 0 & 3 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 0 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix} = 1 \\ & X_{2} = \begin{bmatrix} 1 & \frac{1}{2} & 0 \\ 0 & 0 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix} = 1 \\ & X_{2} = \begin{bmatrix} 1 & \frac{1}{2} & 0 \\ 0 & 0 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix} = 1 \\ & X_{3} = \begin{bmatrix} 1 & \frac{1}{2} & 0 \\ 0 & 0 & 3 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix} = 1 \\ & X_{3} = \begin{bmatrix} 1 & \frac{1}{2} & 0 \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix} = 1 \\ & X_{3} = \begin{bmatrix} 1 & \frac{1}{2} & 0 \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} 1 & \frac{1}{2} & 0 \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 & \frac{1}{2} & 0 \\ 0 \end{bmatrix} \\ & = 3 \\ & 5 \\ &$$

$$A \chi_{\eta} = \begin{bmatrix} 1 & 6 & 1 \\ 0 & 2 & 0 \\ 0 & 0 & 3 \end{bmatrix} \begin{bmatrix} 0 & Aqq\eta \\ 0 & 0 & 0 \end{bmatrix} = \begin{bmatrix} 3.9982 \\ 1.9994 \\ 0 & 0 & 3 \end{bmatrix} \begin{bmatrix} 0 & 5 \\ 0 & 0 & 3 \end{bmatrix} = \begin{bmatrix} A \\ 2 & 0 \end{bmatrix} = 4 \begin{bmatrix} 1 \\ 0 & 0 \end{bmatrix}$$

$$A \chi_{g} = \begin{bmatrix} 1 & 2 & 0 \\ 0 & 0 & 3 \end{bmatrix} \begin{bmatrix} 0 & 5 \\ 0 & 0 \end{bmatrix} = 4 \begin{bmatrix} A \\ 0 & 0 \end{bmatrix} = 4 \begin{bmatrix} 1 & 0 \\ 0 & 0 \end{bmatrix}$$

$$Ginu \quad T^{H} \quad g \quad g^{H} \quad it anathons \quad ass \quad eqnal,$$

$$dominant \quad eigen \quad value = 4$$

$$3 + 6s \quad corresponding \quad eigen \quad value = 4$$

$$3 + 6s \quad corresponding \quad eigen \quad value = 5$$

$$b(a) = 12. \quad Hense \quad bind \quad b(a) = -12, \quad b(1) = 0, \quad b(3) = 62$$

$$b(a) = 12. \quad Hense \quad bind \quad b(a) = -12, \quad b(1) = 0, \quad b(3) = 62$$

$$Here \quad \pi_{0} = 0, \quad \pi_{1} = 1, \quad \pi_{2} = 3, \quad \pi_{3} = 4$$

$$Y_{0} = -12, \quad Y_{1} = 0, \quad Y_{1} = b, \quad Y_{3} = 12.$$

$$By \quad hagsangi \quad polynomia, \\ y = \frac{1}{(\pi^{2} - \pi_{1})} (\pi^{2} - \pi_{2}) (\pi^{2} - \pi_{3}) (\pi^{2} - \pi_{3})$$

$$+ \frac{(\pi^{2} - \pi_{2})(\pi^{2} - \pi_{3})(\pi^{2} - \pi_{3})}{(\pi_{0} - \pi_{1})(\pi_{0} - \pi_{3})} \chi_{y} + \frac{(\pi^{2} - \pi_{0})(\pi^{2} - \pi_{1})(\pi^{2} - \pi_{1})(\pi^{2} - \pi_{1})}{(\pi_{0} - \pi_{0})(\pi^{2} - \pi_{1})} \chi_{12}$$

$$= \frac{(\pi - 1)(\pi^{2} - 3)(\pi^{2} - \pi_{1})}{(\pi^{2} - 3)(\pi^{2} - 2\pi_{1})} \chi_{12} + \frac{(\pi^{2} - 2n)(\pi^{2} - 2n)(\pi^{2} - 2\pi_{1})}{(\pi^{2} - 2n)(\pi^{2} - 2\pi_{1})} \chi_{12}$$

$$A \times_{\eta} = \begin{bmatrix} 1 & 6 & 1 \\ 0 & 2 & 0 \end{bmatrix} \begin{bmatrix} 0 & 4\eta \eta \eta \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} 3.9\eta g_{2} \\ 1.9\eta \eta \phi \\ 0 & 0 \end{bmatrix} = 3.9\eta g_{2} \times_{g}^{g}$$

$$A \times_{g} = \begin{bmatrix} 1 & 6 & 1 \\ 0 & 0 & 0 \end{bmatrix} \begin{bmatrix} 0 & 5 \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} 4 \\ 2 & 0 \end{bmatrix} = 4 \begin{bmatrix} 1 \\ 0 & 0 \end{bmatrix}^{g}$$
Since $T^{H} \times_{g} g^{sh}$ iterations are equal,
dominant eigen value = 4
2.4hs converponding eigen vertos = $\begin{bmatrix} 1 \\ 0 & 5 \end{bmatrix}$

$$R(1) \cup Su$$
has hargsange's formula to find a polynomial
which takes the values $b(0) = -12$, $b(1) = 0$, $b(3) = 6R$
 $b(4) = 12$. Hence find $b(2)$.
Solution
 $\pi : 0 \quad 1 \quad 3 \quad 4$
 $Y : -12 \quad 0 \quad 6 \quad 12$
Here $\pi e = 0$, $\pi_{1} = 1$, $\pi_{2} = 3$, $\pi_{3} = 4$
 $Y_{0} = -12$, $Y_{1} = 0$, $Y_{2} = 6$, $Y_{3} = 12$.
By hargsange's formula,
 $y = \frac{1}{(\pi - \pi_{0})} (\pi - \pi_{2}) (\pi - \pi_{3})}{(\pi_{0} - \pi_{1}) (\pi_{0} - \pi_{2})} \times \frac{(\pi - \pi_{0}) (\pi - \pi_{1})(\pi - \pi_{1})}{(\pi_{0} - \pi_{1}) (\pi_{0} - \pi_{2})} \times \frac{(\pi - \pi_{0}) (\pi - \pi_{1})(\pi - \pi_{1})}{(\pi_{0} - \pi_{0}) (\pi_{0} - \pi_{1})} \times \frac{(\pi - \pi_{0}) (\pi - \pi_{0})(\pi - \pi_{0})}{(\pi_{0} - \pi_{0}) (\pi_{0} - \pi_{0})} \times \frac{(\pi - \pi_{0}) (\pi - \pi_{0})(\pi - \pi_{0})}{(\pi_{0} - \pi_{0}) (\pi_{0} - \pi_{0})} \times \frac{(\pi - \pi_{0}) (\pi_{0} - \pi_{0})(\pi_{0} - \pi_{0})}{(\pi_{0} - \pi_{0}) (\pi_{0} - \pi_{0})} \times \frac{(\pi - \pi_{0}) (\pi_{0} - \pi_{0})(\pi_{0} - \pi_{0})}{(\pi_{0} - \pi_{0}) (\pi_{0} - \pi_{0})} \times 12$

$$i \cdot \frac{1}{9} (m)^{2} = x^{\frac{5}{9}} - 7x^{\frac{2}{9}} + 18 \times -12$$

$$i \cdot \frac{1}{9} (2) = x^{\frac{5}{9}} - 7(2)^{\frac{5}{9}} + 18 \times 12 - 12$$

$$[\frac{1}{9} (2) = x^{\frac{5}{9}} - 7(2)^{\frac{5}{9}} + 18 \times 12 - 12$$

$$[\frac{1}{9} (2) = x^{\frac{5}{9}} - 7(2)^{\frac{5}{9}} + 18 \times 12 - 12$$

$$[\frac{1}{9} (2) = x^{\frac{5}{9}} - 7(2)^{\frac{5}{9}} + 18 \times 12 - 12$$

$$(i) Find this function f(n) form the following table using headerin didded difference formula:
 $n : 0 = 1 = 2 = 4 = 5 = 7$
 $\frac{1}{9} (n) : 0 = 0 = -12 = 0 = 600 = 7308$

$$\frac{50 \text{ luthon:}}{0} = \frac{5}{0} + 12 = 4 = 5 = 7$$
 $\frac{5}{9} (n) : 0 = 0 = -12 = 0 = 600 = 7308$

$$\frac{50 \text{ luthon:}}{0} = \frac{5}{0} + \frac{16}{100} = \frac{7}{4} = \frac{6}{9} = \frac{9}{9} = \frac{7}{12} = \frac{6}{6} = \frac{9}{9} = \frac{9}{12} = \frac{7}{12} = \frac{6}{6} = \frac{9}{48} = 1$$

$$\frac{1}{9} = \frac{1}{12} = \frac{6}{6} = \frac{18}{9} = \frac{9}{16} = \frac{7}{1308} = \frac{6}{3854} = \frac{1}{16}$$

$$\frac{5}{5} = \frac{500}{500} = \frac{5854}{2854} = \frac{16}{16} = \frac{5}{5} = \frac{500}{500} = \frac{3854}{2854} = \frac{16}{16} = \frac{5}{120} = \frac{5}{100} \times 2(n - \pi_{2})(n - \pi_{$$$$

$$(cR)
(b) & T & f(c)=1, f(x)=2, f(x)=33 \text{ and } f(y)=344.
Find a cubic spline approximation, attuming
M(b) = M(3) = 0. Also, find $f(x,y).
Selection:
Here h=1 & x=8.
M_{c-1}+AM_{c}+M_{c+1} = \frac{b}{h^{2}} \left[\frac{c}{4(-1)} + \frac{2}{4(-1)} + \frac{2}{4(-1)} + \frac{1}{2(-1)} \right], i=1,2.
:...M_{e}+AM_{1}+M_{2} = b(L_{1}-2y_{1}+y_{2})
& M_{1}+AM_{2}+M_{3} = b(L_{1}-2y_{2}+y_{3})
& M_{1}+AM_{3} = 160
M_{1}+AM_{2} = 1600
M_{1}+AM_{2} = 1600
M_{1}+AM_{2} = 1600
M_{1}+AM_{2} = 1600
M_{1}+AM_{2} = 1080
M_{1}+M_{3} = 1080
M_{1}+M_{3} = 1080
M_{1}+M_{3} = 1080
M_{1}+M_{2} = 1080
M_{1}+AM_{2} = 1080
M_{1}+AM_{2} = 1080
M_{1}+M_{2} = 1080
M_{1}+M_{2}=1080
M_{1}+M_{2}=100
M_{1}+M_{2}=100$$$

 $f(x) = -46x^{\frac{3}{4}} + 414a^{\frac{2}{-}} - 986x + 715$ $\Psi(2.5) = -46(2.5) + 414(2.5)^2 - 985(2.5) + 715$ 1(2.5) = 121.25 (ii) Griven the following table, find the number of students whose weight is between 60 and 70 lbe: Weight Lin 165) X: 0-40 40-60 60-80 80-100 100-120 x10. of students: 250 120 100 70 50 Solution; a²y a³y A44 y 14 R Betow 40 250 120 -20 60 370 -10 20 100 -30 80 470 10 70 - 20 1 100 540 50 , 120 590 $h = \frac{\chi - \chi_0}{h} = \frac{70 - 40}{20} = 1.5$ $Y(n) = Y_0 + nAY_0 + n(n-1) \Delta^2 Y_0 + n(n-1)(n-2) \Delta^3 Y_0$ + n(n-1)(n-2)(n-3) a⁴y, + n(n-1)(n-2)(n-3)(n-4) a⁵y₀+ 4!. 5! $Y(t_0) = 250 + (1.5)(120) + (1.5)(0.5)(-20) + (1.5)(0.5)(-$ + (1.5) (0.5) (-0.5) (-1.5) × 20 24 = 250 + 180 -7.5 +0.625 +0.4 8875 y (70) = 424 . No. of students whose weight is between 60270 = 4(#0) - 4(60) =424 - 370 = 54 Students

13. (a) (i) Given the following data, find y'(6) and the manimum value of y x: 0 2 3 4 7 9 Y: 4 26 58 112 466 922 Solution : Divided difference Jable x y 4y Ay Ay Ay D A 11 -7 2 26 32 3 58 11 0 54 4 112 0 16 118 7 466 22 228 9 922 By Newton's divided difference formula. $y(n) = f(n_0) + (n - n_0) A f(n) + (n - n_0) (n - n_0) A^2 f(n_0) + \cdots$ $= 4 + (n - 0) \times 11 + (n - 0)(n - 2) \times 7 + (n - 0)(n - 2)(n - 2)$ y(n)= 2 3+222+32+4 $\chi = -4 \pm \sqrt{16 - 36}$ $y'(n) = 3x^2 + 4x + 3$ $y'(6) = 3(6)^2 + 4(6) + 3$ y'(6) = 135 . y(n) is maximum if y'(n) = 0. $3x^2 + 4x + 3 = 0$ $\Rightarrow x = -\frac{4\pm i\sqrt{2}}{6}$: The roots are imaginary. . There is no extremum value in this range.

(i) Evaluate
$$\int_{1}^{1/2} \int_{1}^{1/4} \frac{dxdy}{x+y} = by \ trapezoidal \ formula \ by \ taking \ h=k=0.1$$

Here $\frac{1}{9}(n,y) = \frac{1}{x+y}$
 $x = 1 \quad 1.2 \quad 1.4 \quad 1.3 \quad 1.4$
 $y = \frac{1}{9}(n,y) = \frac{1}{x+y}$
 $x = 1 \quad 1.2 \quad 1.4 \quad 1.3 \quad 1.4$
 $1.1 \quad .4762 \quad .4545 \quad .4348 \quad .4167 \quad .4$
 $1.1 \quad .4762 \quad .4545 \quad .4348 \quad .4167 \quad .4$
 $1.2 \quad .4545 \quad .4548 \quad .4167 \quad .4$
 $1.3 \quad .4545 \quad .4548 \quad .4167 \quad .4$
 $1.4 \quad .4545 \quad .4548 \quad .4167 \quad .4$
 $1.2 \quad .4545 \quad .4548 \quad .4167 \quad .4$
 $1.3 \quad .4545 \quad .4548 \quad .4167 \quad .4$
 $1.4 \quad .4545 \quad .4548 \quad .4167 \quad .4$
 $1.5 \quad .16 \quad .167 \quad .2846 \quad .47624 \quad .4545 \quad .47624 \quad .47644 \quad .476444444444444444444444444$

Ey Trapezzi del Rule,

$$T_{1} = \frac{h}{2} \left[Y_{0} + Y_{2} + 2(Y_{1}) \right]$$

$$= \frac{0.5}{2} \left[1 + .5 + 2(-8) \right]$$

$$T_{1} = .7750$$
(r) when $h = \frac{1}{A} = 0.25$
 $x : 0 \quad 0.25 \quad .5 \quad 0.75 \quad 1$
 $y = \frac{1}{2}(m) : 1 \quad .9412 \quad .8 \quad .64 \quad .5$
 $y_{1} \quad y_{1} \quad y_{2} \quad Y_{3} \quad y_{4}$
By Trapezoi dul Rule,
 $T_{2} = \frac{h}{2} \left[(Y_{0} + Y_{3}) + 2 (Y_{1} + Y_{2} + Y_{3}) \right]$
 $= \frac{.5}{2} \left[(1 + .5) + 2 (-9412 + .8 + .64) \right]$
 $T_{3} = 1 \cdot .5556$.
By Romberg's Integration,
 $T = T_{2} + \frac{1}{3} (T_{2} - T_{1})$
 $= 1.5656 + \frac{1}{3} (1.5656 - .7750)$
 $T = 1 \cdot .6291$
(ii) when $h = \frac{1}{8} = .125$
 $x: 0 \quad .125 \quad .375 \quad .5 \quad .625 \quad .75 \quad .6154 \quad .564$
By Trapezzoi del Rule,
 $T_{4} = \frac{1}{9} \left[1 \cdot .5 + 2 (5 \cdot .528) \right]$
 $= 3 \cdot .139$

Unfiled Notes Page 13

```
By Romberg's entegration,
\underline{T} = \underline{I}_3 + - \underline{\frac{1}{3}}(\underline{I}_3 - \underline{I}_2)
         = 2.0901
 (ii) The velocity v of a particle at a distance & from
    a point on its path is given by the table below:
                                                      60
                                                50
     S(meter): 0 10 20 30
                                           40
     V(m/see): AT 58 64 65 61 52
                                                     38
   Estimate the time taken to travel bo meters by
    Simpson's 1/3 Rule & Simpson's 4/8 Rule.
    Solution:
                   We know that de = V
              .
       Nº :
                                      de = vdt
                                       dt= to ds.
       Ø
                                      Jdt = Jtdu.
       10
                                      30 40 50
                                                             60
       2=5:00 10 20
                                0.01563 0.01528 0.01639 0.01923 0.0263.
      y=-1 : 0.02127 0.01723
     By Simpson's J Rule,
         \int_{0} y \, dx = \frac{h}{3} \left[ (y_0 + y_0) + 2 (y_0 + y_4) + 4 (y_1 + y_3 + y_5) \right]
                  = 10 [ (0.02127+ 0.0263 ) + 2 ( 0.01563+0.01629 )
                    +4 (0.01724+0.01532+0.01923)
                  = 1.063 Sell .
  By
      Simpsons 3/8 Rule,
    5 y dn = 3h [(Y,+Y,) + 3 (Y,+Y2+Y4+Y5) +2(y3)]
            =1.064 Sels.
```

W(0) i) Use Taylor series method to find 4(0.1) syon,
given that
$$\frac{dy}{dx} = 3e^{\frac{x}{2}} + sy$$
, $y(0) = 0$ correct to 4
defined accuracy.
Solution:
 $\frac{y'}{y'} = 3e^{\frac{x}{2}} + sy$, $x = 0$, $4 = 0$,
 $\frac{y'}{y'} = 3e^{\frac{x}{2}} + sy$, $y' = 3e^{\frac{x}{2}} + sy^{\frac{x}{2}} = 3e^{\frac{x}{2}} + 2(4) = 3e^{\frac{x}{2}}$
 $y'' = 3e^{\frac{x}{2}} + 2y''$, $y' = 3e^{\frac{x}{2}} + 3y'' = 3e^{\frac{x}{2}}$
 $y'' = 3e^{\frac{x}{2}} + 2y''$, $y' = 3e^{\frac{x}{2}} + 3y'' = 3e^{\frac{x}{2}}$
 $y'' = 3e^{\frac{x}{2}} + 2y'''$, $y' = 3e^{\frac{x}{2}} + 3y'' = 3e^{\frac{x}{2}}$
 $y'' = 3e^{\frac{x}{2}} + 2y''' + y'' = 3e^{\frac{x}{2}} + 3y'' = 3e^{\frac{x}{2}} + 3y'' = 3e^{\frac{x}{2}}$
 $y'' = 3e^{\frac{x}{2}} + 2y'' + y'' = 3e^{\frac{x}{2}} + 3y'' = 3e^{\frac{x}{2}}$
 $y'' = 3e^{\frac{x}{2}} + 2y'' + y'' = 3e^{\frac{x}{2}} + 3y'' = 3e^{\frac{x}{2}}$
 $y'' = 3(0.1) + (0.1)^{\frac{x}{2}} + 3e^{\frac{x}{2}} + 3e^{\frac{x}{2}} + 3e^{\frac{x}{2}}$
 $y'' = 3(0.1) + (0.1)^{\frac{x}{2}} + 9e^{\frac{x}{2}} + 9e^{\frac{x}{2}} + 3e^{\frac{x}{2}} + 3e^{\frac{x}{2}} + 3e^{\frac{x}{2}} + 3e^{\frac{x}{2}} + 3e^{\frac{x}{2}}$
 $(10.2) = 3(0.1) + (0.1)^{\frac{x}{2}} + 3e^{\frac{x}{2}} + 5e^{\frac{x}{2}} + 3e^{\frac{x}{2}} + 3e$

.

Unfiled Notes Page 15

Using Milnus Predictor formula,

$$\exists n_{11}, p = y_{n-3} + \frac{Ah}{3} \left(\frac{ay_{n-2}}{y_{n-2}} - \frac{y_{n-1}}{4} + \frac{ay_{n}}{4} \right)$$

Pat $n=3$, $\exists u_{n}, p = y_{0} + \frac{A(0.1)}{3} \left(\frac{ay_{1}}{y_{1}} - \frac{y_{1}}{4} + \frac{ay_{n}}{4} \right)$
Consider $y_{1}^{\prime} = -\frac{1}{4} \left(1 + \frac{x^{2}}{2} \right) y_{1}^{\prime} = 0.5674$
 $y_{2}^{\prime} = \frac{y_{2}}{2} \left(1 + \frac{x^{2}}{2} \right) y_{2}^{\prime} = 0.5674$
 $y_{3}^{\prime} = \frac{y_{2}}{2} \left(1 + \frac{x^{2}}{2} \right) y_{3}^{\prime} = 0.79799$
 $\therefore y_{h-3} p = 1 + \frac{A(.1)}{2} \left[2x.5674 - 165.42 + ax.79799 \right]$
 $\left[\frac{U_{n}, p = 1.3971}{Using} \right] \frac{U_{n-1}}{2} + \frac{y_{2}}{2} \left(\frac{y_{n-1}}{4} + \frac{Ay_{n}}{9} + \frac{y_{1}}{9} \right) = 0.946$
 $\lim_{n\to\infty} c = y_{n-1} + \frac{h_{2}}{3} \left(\frac{y_{n-1}}{4} + \frac{Ay_{n}}{9} + \frac{y_{1}}{9} \right) = 0.946$
 $= 1.12 + \frac{(0.1)}{3} \left(.65 + 22 + A(.7979) + .946 \right)$
 $\left[\frac{y_{n}, c = 1.2797}{3} \right]$
 $\therefore y(c.A) = y_{n} = 1.2797$
Henu, Solve it over the square region given by
the boundary conditions as is the figure below.
 $\boxed{\frac{w}{u_{3}}}$

$$\begin{split} & \text{lonsider} \quad \nabla^2 u = c \, \\ & \text{if } \frac{3^2 u}{3\pi^2} + \frac{3^2 u}{a_f^2} = c \, \\ & \text{By finite difference appronimation} \, \\ & \underline{u_{i+1,j}} - 3\underline{u_{i,j}} + \underline{u_{i-1,j}} + \underline{u_{i,j+1}} - 3\underline{u_{i,j}} + \underline{u_{i,j-1}} \\ & \underline{u_{i+1,j}} - 3\underline{u_{i,j}} + \underline{u_{i-1,j}} + \underline{u_{i,j+1}} - 3\underline{u_{i,j}} + \underline{u_{i,j-1}} \\ & \underline{u_{i,j}} = c \, \\ & \text{For a square much } h = k \, . \\ & \therefore \quad A \, u_{i,j} = U_{i+1,j} + U_{i-1,j} + U_{i,j+1} + U_{i,j-1} \\ & U_{i,j} = \frac{1}{4} \left[U_{i+1,j} + U_{i-1,j} + U_{i,j+1} + U_{i,j-1} \right] \\ & \text{This is called } standard five point boxmula \, . \\ & \text{lonsides } k \, \underbrace{u_{i+1,j}} = \frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{2} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{2} = -\frac{1}{4} \left[u_{1} + u_{2} + a + h \right] \\ & U_{3} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{4} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{4} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{4} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{4} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{4} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{4} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{4} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{4} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{4} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{5} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{2} + u_{3} + a + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{6} + u_{6} + u_{6} + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{6} + u_{6} + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{6} + u_{6} + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{6} + u_{6} + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{6} + u_{6} + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{6} + u_{6} + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{6} + u_{6} + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{6} + u_{6} + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{6} + u_{6} + h \right] \\ & U_{6} = -\frac{1}{4} \left[u_{6} + u_{6} + h \right] \\ & U_{6} = -\frac{1}{4} \left[u$$

(ii) Obtain the Crank-Nickolson finite different method
by taking
$$\lambda = \frac{kc^2}{h^2} = 1$$
. Hence, find $u(x, t)$ in the cool
for two time steps for the base equation $\frac{\partial u}{\partial x} = \frac{\partial u}{\partial t}$
given $u(x, o) \geq \sin(x, n)$, $u(o, t) = 0$, $u(t, t) \geq 0$ Take hear
solar
Consider the heat equation $\frac{2\partial u}{\partial x^2} = \frac{\partial u}{\partial t}$
By forward difference approximation.
 $\frac{\partial u}{\partial t} = \frac{u_{i,j+1} - u_{i,j}}{k}$, $\frac{\partial^2 u}{\partial x^2} = \frac{u_{i+1,j} + u_{i-1,j} - 2u_{i,j}}{k^2}$
By backward difference approximation.
 $\frac{\partial u}{\partial x^2} = \frac{\partial u}{\partial t} \Rightarrow \frac{u_{i,j+1} - u_{i,j}}{k} = \alpha^2 \left(\frac{u_{i+1,j} + u_{i-1,j} - 2u_{i,j}}{k^2} \right)$
By Backward difference approximation.
 $\frac{\partial u}{\partial x^2} = \frac{\partial u}{\partial t} \Rightarrow \frac{u_{i,j-1}}{k} = \alpha^2 \left(\frac{u_{i+1,j} + u_{i-1,j} - 2u_{i,j}}{k^2} \right)$
 $\frac{\partial u}{\partial x^2} = \frac{(u_{i,j-1} - u_{i,j-1})}{k} = \alpha^2 \left(\frac{u_{i+1,j} + u_{i-1,j} - 2u_{i,j}}{k^2} \right)$
 $U_{i,j+1} - \frac{u_{i,j-1}}{k} = \frac{\alpha^2}{k^2} \left(\frac{u_{i+1,j} + u_{i-1,j} - 2u_{i,j}}{k^2} \right)$
 $U_{i,j+1} = (u_{i,j} - u_{i,j-1}) = \alpha^2 \left(\frac{u_{i+1,j} + u_{i-1,j}}{k^2} \right)$
 $U_{i,j+1} = (u_{i,j} + \frac{1}{2} \left[u_{i-1,j} - 2u_{i,j} + u_{i-1,j} + u_{i-1,j} \right]$
 $u_{i,j+1} = u_{i,j} + \frac{1}{2} \left[u_{i-1,j} - 2u_{i,j} + u_{i+1,j} \right]$
 $u_{i,j+1} = \frac{1}{4} \left[u_{i+1,j+1} + u_{i-1,j} + u_{i+1,j} + u_{i+1,j} \right]$